Marking Scheme
Class - 11th
Subject - Philosophy (588)

Q. No.

Wus - 3
SECTION - A

(axgFsusr)

(Objective Type Questions)

Marks
(15X1=15)

A oty & Frag R AR g1 (9 [ 8/ a)
Induction is based on the law of Contradiction.
Answer - False

37X - ™

95 i fafeY 1 & Rteror st fasner 781| (T [ 319)
Method of difference has no wide a scope as that of
observation. (True/False)

Answer - False

3R - A

i Ueh SR a1ed s ¢, dtf sy off AseraTes g (T
| sra)

If one of the premises is negative the conclusion must be
negative. (True/False)

Answer - True

3R - 9

SH <Al dTfchen TYR AW 81 (T [ 319A)

The logical foundation of inference is Vyapti. (True/False)
Answer - True

3 - 9

4 i fafdy o i fafdy 81 (9 / <)

Method of difference is a method of experiment.
(True/False)

Answer - False

3R - ™

aFTAeh [MRIST0T T Se%9 9 i @il &l ol (T [ 31 9d)
The aim of scientific observation is search of truth.
(True/False)

Answer - True

IR - 9™

3raq & fafer Ateror i fafer 81 (97 / s/ g<q)
Method of agreement is a method of observation.
(True/False)
Answer - False
3<IY - ™

UReUT ST &l aRdideh hRYT 81 (94 [ 319d)
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Hypothesis is the real cause of an event. (True/False)
Answer - False
37X - ™

UReheT T ol 33T HeAT i ARAT AT 81 (9T [ 31/ 9a)

Hypothesis aims at the explanation of a fact. (True/False)

Answer - True
I -9

10

g gleR uRepeaT fAaw a1 St 81 (99 [ 319)

After proof, Hypothesis becomes a law. (True/False)
Answer - True

3R - 9

1

Tiadq <™ &2 & Udde U1 (T [ 9raa)

Gautam was the founder of Nyaya Philosophy.
(True/False)

Answer - True

3R - 9

12

YR VT SFTHA HRUTAT RTMUd el 8| (T [ 319A)
Simple enumeration established causal connection.
(True/False)

Answer - False

<X - ™

13

AhATH Ueh 3MM&AHeTeh A 81 (94 [ 3/ 8c)
Logic is a normative science. (True/False)
Answer - True

SR -9

14

dAhN fagt &1 o= g1 (9 [ 3 9aa)

Logic is the science of sciences. (True/False)
Answer - True

X -9

15

ThUTS ek St | Suanh g1 (I [/ 3/ 9d)
Logic is useful in daily life. (True/False)
Answer - True

SR -9

us - §
SECTION -B

(SifareTg SRS UH)
(Very Short Answer Type Questions)

Marks
(10X 2=20)

16

AT A LG I & [ Ald 6 ?
How many sources of Pure Knowledge in Nyaya
Philosophy?

17

I 3 o AR U T 6 ?
According to Nyaya Philosophy, what is perception?

18

A AT ?
What is Vyapti ?
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19 @Y a1 8? 2
What is Svarthanumana ?
20 IYROT VT SFTHA hl TR hel idT & ? 2
Where is the use of simple enumeration ?
21 UlReheq-T Al ST [T 6 ? 2
What is the aims of Hypothesis?
22 3q <t fafey o1 sTuR AT @ ? 2
What is the base of "Method of agreement” ?
23 dhar AT ¢ ? 2
What is proposition?
24 He drfafaraarg ? 2
What is the method of difference?
25 ATk ANTHA T ST FAT & ? 2
What is the aim of Scientific Induction ?
¥oug - g Marks
SECTION-C (7x3=21)
(<Tg SRR UH)
(Short Answer Type Questions)
26 foRtear s g ? 3
What is Contradiction?
27 USRI G ? 3
What is a term ?
28 TART R § ? 3
What is a Experiment ?
29 AhSATE hT ST T @ ? 3
What is the scope of logic?
30 3rgg i fafy g ? 3
What is the method of agreement?
31 I FUTHITE ? 3
What is true statement ?
32 TYRUT TUMT S{THA T STYR ST g ? 3
What is the base of Simple Enumeration ?
gus - g Marks
SECTION-D (4X6=24)
(& 3T ws)
(Long Answer Type Questions)
33 TG M R F IR TR AT E ? 6
What are the four stages of Scientific Induction method ?
STYdar OR
GIYROT TTUHET FTHA h Hgd UR UhIT STfeig|
Discuss the importance of Simple Enumeration Induction.
34 fteror fha UPR @1 8 ? 6

How many types of Observation ?
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37Yar OR
gReeT fohamt TR HI 8 ?
How many types of Hypothesis?

35

Ueh 34 UReheu-T I T S & ?

What are the conditions of a valid Hypothesis?
S1Ydr OR

=19 I F S Y e &

Explain the Inference in Nyaya Philosophy.

36

ThATH o WEY i ITEAT H
Describe the nature of logic..

Syar OR
Ry g R qyar & g R g ?

What are the rules of validity of categorical syllogism?
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